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AT b

& (58l#) # functin(argument)
sqrt(16)

T—X2AT7T v b (B#c #RAW5E
c (F—%) # ¥4 : concatenate
c(1,2,3)

A 72 T —XF 727 MIARIZEDITS !
7z <-BE GIE) # (R A : assighment

data <- c(1, 2, 3)



M it AT UL

(&3] (F—XDERR)

>c (1,2, 3,4) # 7 — X DIERL
[1] [1,2,3,4]
> data<-c(1, 2, 3, 4, b) #T—REFTY U hdatalZfXA
> sum(data) # 7 —&Xdatae it
[1] 15
> mean(data) # T —XdataEHE
[1] 3
> data”2 # R8T —Xdatad 2 &

[1] 1, 4,9, 16, 25



B HE T LR

[3284])] (datalxEHXL TCZDORFEZ KD S)

> datal<-c(7,6,4,8,9,6,5,7,8,5,8,7,10,6,7,7,8,9,4) # datal D &

> sum(datal) # datal D &5t
[1] 131
> mean(datal) # datal D) E

[1] 6.894737

> median(datal) # datald (&
[1] 7



B E a0
[224) (datalz ETEL TZOREEE KD B)

RICIIERIEBEDOHEMIAABKIZAZ WD T, tablea~y NTHEEA KD 3,

> table(datal)

datal
45678 910 # datal
2235421 # datal DSEE

> max(datal) # datal DR KB

[1] 10

> min(datal) # datal D&/MiE

[1] 4

> length(datal) # datald 7 — X DEEK

|
[1] 19



B E T

(28 5] (Bl EERE)
> var(datal) # datal D RO E

[1] 2.766082

ZDORERIIFTROEL+ (n-1)) . BADEIL {+n}) ) .
SEREIIDEDEDERRTH 5,
> sd(datal) # datal D NMRIZERE

[1] 1.663154



B R ET AL
[2Z6] (B

> summary(datal)

# EY
Min. 1st Qu. Median Mean 3rd Qu. Max.
4.000 6.000 7.000 6.895 3.000 10.000

Z 2T, 1sQu. 1FEIMHLE, 39Qu. (FERE3MDFIETH D,



B H Qi AT ALIE
[52%7] (BEIRED)

>x<-¢(7,6,4,8,9,6,5,7,8,5,8,7,10,6,7,7,8,9, 4)
>y<-¢(3,51,8,3,52,9,3,9,1,59,4,6,2,9,5, 3)
> cor(x, y) # x &y DEBERE

[1] 0.3070567

CEHETE S,

(55 2]

RD2DODT—RIZF LT, &5 T, TMEHH, TMEEERZ, L 2207 — KW d 2EEHEK % KD
A& L

dataA <- c¢(54,36,91,45,71,36,54,41,63,80)

dataB <- ¢(61,71,39,73,67,81,90,73,45,84)



